Puzzle solved

"Unabridged Art"
by John de Cuevas
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The omitted letters (in parentheses in the list below) spell BROADWAY.
The two unclued down entries are SACKLER and FOGG

Across

GAINSAID
ARISEN
A(R)TICLE
TIMER
CRACKER
TAPS
SHACKLE
MINUTE
10. B(O)TTLE
11. R(A)IN

12. GREE(D)
13. LOWERING
14. LEADEN
15. OFFENSE
16. ARENA

17. VO(W)EL
18. OAST

19. W(A)DDLE
20. GROWTH

©CoOoNOR~WNE

21. (Y)EARLING

STU(B)BORN

Down

SACKLER
FERTILE
ERIE
LOUDER
MINNOW
BATTING
SATORI
ANGLE
SHRIMP
UREA
TENSES
TEAR
WAGER
SEEDED
RANCH
BLEND
LIAR
ATONAL
INTACT
WOVEN
SICKLE
FOGG

Note: Two of Harvard's art museums, the Sackler and the Fogg, face each other across Broadway. About
the time this puzzle was published, the City of Cambridge denied the University the variance it sought to
build an enclosed bridge over Broadway that would connect the two buildings. They remain separate.



